4A - Probability – Lesson 08
Relative Frequency – Complementary Events.
Name: _________________

The Complementary Event is the event that describes all other possible events.

1. Match the complementary events.
Rolling a six with a dice.
Not winning at cricket.

Winning first prize in a raffle
Not a head on a coin.

A picture card in a deck of cards.
A tail on a coin.

Winning at cricket.
Not rolling a six.

A head on a coin. 
Not winning first prize in a raffle.
2. Write the complement of the events below.
a. Playing in the grand final. 
_________________________________

b.  An even number on a die.
_________________________________
c. Rolling a die greater than three.
_________________________________
d. Rolling a six on a die.
_________________________________

e. Rolling an even number.
_________________________________

f. Coming first in the class.
_________________________________
g. Playing a game of bowls.
_________________________________
h. Jogging to work.
_________________________________

The Sum of the Probabilities of an event and its complement add to ‘1’.

3. A bag contains 10 blue, 7 yellow and 3 red counters.
a. What is the probability of picking a yellow?
P( yellow) =

b. What is the complement of picking a yellow?


___________________________________________________________

c. What is the probability of the complement?
  P( complement of yellow) =

d. What is the sum of the probability of a yellow plus the probability of the complement of yellow?

P(yellow) + P(complement of yellow) =  ___ + ___  = ___

To find the Probability of an Event, subtract the probability of its Complement from ‘1’.

4. Two coins are tossed. 
a. What is the probability of picking two heads? 
P( HH) =

b. What is the complement of picking two heads?


___________________________________________________________

c. What is the probability of the complement?
P(Not HH) 
= 1 – P(HH)

= 1 - ___

d. What is the sum of the probability of a yellow plus the probability of the complement of yellow?

P(HH) + P(complement of HH) =  ___ + ___  = __
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